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<INV EE KA TRRI1EIRBRE
£S5 % & | B By HEE | 285F 295F 30FE | 1/28  1/58  1/10#8
1 [—HREHAE &/ ml 100 1 0 0 — — —
2 | K& —  mmsnmoce| B fE 2t — — —
3 [AFEIVLRUZDIEEY mg/| 0.003 [0.00035&i% 0.00035k:E 0.0003%kiE| O o[e] o[g]
4 [KEBRUZDILEY mg/l | 0.0005 |0.000055&i#% 0.000055%;% 0.000055%%& O[H o[ o[
5 [ELURUVZEDIEEY mg/| 0.01 0.001&#  0.001 0.001K 5% ofm] o[=] o=
6 [SARUVZDILEY mg/| 0.01 0.001K# | 0.001K% 0001k | oM 0 0E
7 [ERRUVZDILEY mg/| 0.01 0.001#% 0.001K%  0.001 o= o[e] of[g]
8 |AlvaLiEE mg/| 0.05 0.0055Ki#  0.0055Ki% | 0.0055KiH 0[=] o[=] o[
9 |EHEEEER mg/| 0.04 0.0043K i | 0.004Ki# 0.004KiE | OE ]| o[
10 |Y7U LMV RUMEIEYTY mg/| 0.01 0.0013K% 0.001KjH 0.001FKH o[ O[] o[g
11 |HBEERRVEHBEZER | mg/ 10 0.43 0.37 0.24 ] ]| ]
12 |[9vRRUZDILEY mg/| 0.8 0.08Ki#% | 008K | 0.08kKi& | 0f=] ]
13 |TRIRRVZDIEEY mg/| 1.0 0.02%K5E | 0.02FKH 0.03 o[ o[=] o=
14 |miELiRE mg/| 0.002 [0.00025ki# 0.00025k: 0.00025%:E| O o[=] o[
15 14-OF %4> mg/| 0.05 0.0055K3# = 0.0055Ki& | 0.0055K & ofm] o[e] o[
16 [VARUIMNYA-1.2-Y9001FLY | me/l 0.04 0.0012R3#  0.001KiE | 0.001KiH 0f=] O[] o[
17 |oaaigy mg/| 0.02 0.0013Ri#E  0.001KiE | 0.001KiH ofm] o[e] o=
18 [FFS7RRTFLY mg/| 0.01 0.0012R3#%  0.001KiE | 0.001KiH V] o[=] o[
19 [M)yOQTFLY mg/| 0.01 0.0013Ri® 0.001KE | 0.001KiH ofm] o[e] o=
20 |[RyEY mg/| 0.01 0.0013R3# 0.0013KRiE | 0.001KiH 0[=] 0[e] o[
21 |5 mg/| 0.6 0.08 0.2 0.24 ] 2[@| 1
22 |7O0OEE: mg/| 0.02 0.002:K:#  0.002:RiE | 0.0025KiH 0[=] o[=] o[
23 |romRILL mg/| 0.06 0.01 0.002 0.003 0l 0@ 1
24 (oo me/| 0.03 0.012 0.002 0.004 0El 1 18
25 [CTJoEyOOASy mg/| 0.1 0.002 0.003 0.004 W e ]
26 |RFH mg/| 0.01 0.0012R3  0.0013KiE | 0.001KiH 0[=] o[=] o[
LYRENIN=P LV mg/| 0.1 0.02 0.008 0.011 0= e 2]
28 [FYHOOFEE mg/| 0.03 0.011 0.002 0.003 0E 1= 0E
29 [JoECH/OOAZY mg/| 0.03 0.005 0.003 0.004 ] ]| 2]
30 |7BERILL mg/| 0.09 0003 | 0001k  0.002 0[] 0 W=
31 [RILLTFILTER mg/| 0.08 0.0085K3# = 0.0085K& | 0.0085K & ] 0[g] o[g]
32 |EHMERUVZDEEY mg/| 1.0 001K | 001K | 0.01KiE 0| 0f=] ]
33 |TLEZIARUVZEDIEEY mg/| 0.2 0.02:R# | 0.02:RiE | 0.025K5H o[ ]| o[
34 |HRUVZEDEEY mg/I 0.3 0.03kiH | 003k | 0.03kKiE | 0f=] 0[E
35 [SARUVZFDIEEY mg/| 1.0 0.01Ri# | 001K | 0.01KiH ofm] o[=] o[g]
36 [FRUDLBRUZFDIEEY mg/| 200 5.9 71 9.4 o[ o[ o[
37 |RVAVRUZFDILEY mg/| 0.05 0.0053K# | 0.005K# 0.005Ki# | O ]| o[
38 |EiL14> mg/| 200 20 20 24 o[ o[ 1[E]
39 [AVVIL T2V LETEE) mg/| 300 23 33 39 o= o[e] 2[a]
40 (EFRZEY mg/| 500 63 92 98 o[ 1@ 2]
4 (A A FEmE S mg/| 0.2 0.02:R# | 0.02:KRiE | 002K ofm| ]| ofm|
42 [CxARzY mg/l | 0.00001 | 0.000002 | 0.000004  0.000003 0E 2[8] 18
43 |2-2FWAYR LR E=I mg/l | 0.00001 |0.0000015%3% 0.0000015%5% 0.0000015%5%&| O[] o[ o[
44 (FEAF > FEmiEHEH mg/| 0.02 0.0055#% 0.005K# 0.005%kK%H Ve o[=] 0[]
45 ([Jx/— L4 mg/| 0.005 [0.00055i% 0.00055&:% 0.00055%ki%| O[F o[e] o=
46 | B (TOC) mg/| 3 1.0 0.4 0.4 0E 1= 2[E]
47 |pH{E - 58~8.6 7.4 7.1 7.2 — — —
48 [mx — | BEThLZe| Bl | BEsRiGL | BiRiL — — —
49 |BRR — |BEwmoance BREGL  BERLGL  ERAGL — — —
50 |BfE E 5 1.0 05K = 05K V] 0[=] 18]
51 |i&E E 2 01K 01K = 01K 0fm] 0[g] o[g]
X1 BALEERIE. RKEZANTHYET,

X2 EHIE. FEEORKEDAHELALTHIYFET.




